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N: no 3D-linearization (OL) in file (F) or PS-startup (S), page 1/1

LABJNDuO triangle lightnesst*
t* Yoc=Yw - nc=100,

t*LaBINDU9 =IN(A 1ntA2nY)/(ArAon)  (Ynd/100<Y<=Y, ()
| ABINDU9 =IN(A 1+ A2 X)/(A2 A0n)  (X=YTY)

L* (=49, t* =117 1
1
* 1
" 1
- ]
toq=147,2 ., A M, Ap,=0,0438, ¢=0,42
t*15=1.86,5 2, A= 007, A,=0,0024
365218 1,1 86,52 Y7181
1
u X,=1
F ey et
TXE0.2. . Mxw=b

application
range

LABJINDu9

tristimulus value difference

Yoc=Yw nc=100,
L ABINDUg =IN(A 17 A2 Y)(A2rAon)  (Yad/100<Y<=Y,o)
1 ABINDUg =IN(A 10+ A2X)(A2iAon) - (X=YTYy)
dY:AOn(A1n+A2nY):A0n(A1n+A2uX) X=YIYL|
Aonpes=1,5, Aon a=1,0, see CIE 230:2019

>

>
Ui L8h d%=0.08 @Y Vs 2R ®0 40 o _ -
- - 'a}gs_é%‘&” ) o JLé) 'ﬁﬁ " application
log(®¥(3=0,08, /8807, A=Cw! range
dY3V§O,Ol Yi1e, d\(,::,‘ I>ﬂ:1
e e

xN=0,2 Xw=5

log AY/Y) LABJINDuU9
_ tristimulus value sensitivity
SEERY) Yoc=Yw © nc=100
L ABINDUg =IN(A 17 +AZNY)(A2rAon)  (Yad/100<Y<=Yoo)
1 AgINDUg =IN(A 10t A2X)(A2iAon) - (X=YTYy)
AYIY=Agn(A 1A Y)Y=Agr(A 1AL XY
(dY/Y :=0,0025, Ay=1,0, Ap,=0,0438, ¢=0,42
(dY/Y)g=0,5228, A 70,007, A,=0,0024
(dY/Y} 6=0,2044 Y,=15, uy;=0,05
application
9 range
log(dY/Y)=-2,54 m=-0,fBa 4
A Yy ks
t*,=1187 dY,=0,05 dY,/Y,=0,0028 , _
u u u' Tu =1
xN=0,2 Xw=5

log (Y/AY) LABJINDuU9
C=(YIAY) tristimulus value contrast

Yoc=Yw nc=100
L ABINDUg =IN(A 17 +AZNY)(A2rAcn)  (Yad/100<Y<=Y,o)
tLaBINDU9 =IN(A 10t A2 )/(AouAon)  (X=YTY)
YIAY=Y/[A on(A1ntAnI=X Y /[Aon(A1ntAzuX)]
(Y/dY}g=397,56, Ay=1,0, Ay =0,0438, ¢=0,42
t* S/ ¢853,08, 9 RBEF,=0,0024
S EE"/G’\(;ﬁHQH 1%61& Q\F._&:,l el
log(Y/dY$2,54 =013 o f
*

application

1
1
1
]
1 range

=1

Xw=5

e LABJNDuSO relative triangle lightnesst*/t*,

e, Yoc=Yw - nc=100,

L aABINDU9 =IN(A 1n+A2nY)/(AorAon)  (Ynd/100<Y<=Y, ()
1 ABINDU9=IN(A 17+ A2 X)/(A2Agn)  (X=Y/YY)
t(3,6)=522.% ,(18)=1187 1* ,,(90)=1847

t*og/t* =155, Ayr=1,0, Ay, =0,0438, ¢=0,42

t*1g/t*,=L.00, A,;=0,007, /5=0,0024

3 ¢/t*,=0,43,t%,=1186,52 =18

log[t*/t* ]=0, m,;=0,33
1 application
f range
%=1

log(AY/AY,) LABJINDuUO relative

tristimulus value difference
AN/N Yoc=Yw =100,

t*LaBINDU9 =IN(A 1n+A2nY)/(A2rAon)  (Ynd/100<Y<=Y,()
t* 1 ABINDUO =IN(A 1AL (A Ao (X=YT1Y)
AY/dY =(AqntA2X)(A1ntAgy)
dYoy/dY,=4,43, Ay=1,0, Ay, =0,0438, ¢=0,42
dY,g/dY,=1,00, A,=0.007, A.=0,0024
dY3 ¢dY,=0,31, Y,=18, dY=5,05 4

-
5 dY,Y,=",0025 ¢

application
nge

=1
Xw=5

CED90-4A
log [(AY/Y) | (AYIY),] LABJINDuUO relative
tistimulus value sensitivity

SISu=@YMIAYN) v =y, =100

nc
tLaBINDug =IN(A 1t A Y)(A2rAgn)  (Yad100<Y<=Yyo)
tLagaNDug =IN(A1ntA2X)(A2iAon) - (X=Y7Yy)
@YNYYAYY)=UA 10t A2X)Xull (A 1ntAgy)
(dY/Y)o/(dY/Y)-".88, Ay=1,0, Ay=0,0438, ¢=0,42
(dY/Y)g/(dY/Y}=1,0u, A, =0.007. A,=0,0024
(dY/IY) J(dY/Y)=1,55 Y,=18 dY=0,05
&
Ay
log[(dY/YY(dY/Y),]=0, m;=-0,13
x = = = application
t+,=1187 dY,=0,05 dY,/¥,=0,002§  ZHEC
=1
XN=0,2 Xw=5

CED90-6A
log [(Y/AY) I (YIAY),] LABJINDuO relative
tistimulus value contrast

GGy =(YIBVIYIAY), e ™S VA 60
t*LaABINDU9 =IN(A 1n+A2nY)/(AorAon)  (Ynd/100<Y<=Y,()
tLagaNDug =IN(A 1t A2 X)(A2iAon) - (X=Y7Yy)
(YRYY(YIAY) =X /(A1ntAz ) (A 1n+A2,)
(YIAY o (YIAY)=1,12, Ay=1.0, Ay =0,0438, ¢=0,42
(Y/dY)g/(Y/dY)=1.00, A=0,007, /4,=0,0024
(Y/dY} g(Y/dY)=0,64 Y,=18, dY=0,05

log[(Y/dY)(Y/dY),]=0, m=0,13

application
range

LABJNDu9 triangle lightness T*
Yoc=L*w - nc=100,

T ABaNDu9 =IN(A1n+AnY)(A2nAon)  (Ya/100<Y<=Yyo)
T*LaBaNDu9=IN(A 10 A2 X)/(A2Aon)  (X=YIY,)

L* =49, T*,=1187 f

1

ol ]

" 1
"

*9=1847,21, A = %0, Ap,=0,0438, ¢=0,42

T*,g=1186,52 A = 007, /5,=0,0024

T*36=521,84, %=1 535,52 Y=18 ?al\ar%lganon
1

CED91-1A

logAY) LABJINDu9
AY tristimulus value difference
Yo=L*w  ne=100,

T*LABINDU=IN(A 17+ A2nY)/(A2nA0n)  (Ynd/100<Y<=Y,o)
T*LABINDUO=IN(A 1+ A2)/(A2uAon)  (X=YTYy)
dY:AOn(A1n+A2nY):A0n(A1n+A2uX) XZY/Yu
Aonpss=L5, Aon a=1,0, see CIE 230:2019

-
*

*
T D0 B RS 0 — = - -
logit¥(3=0,05, A7, 5.1 4024 application
dY36=0,01 Y,=18, P’ 5 I 9e
= LT

=02 xw=5
CED91-3A
log (AY/Y) LABINDU9
_ tristimulus value sensitivity
SEERY) Yocml*w © nc=l
T*LABINDU=IN(A 17+ A2nY)/(A2nA0n)  (Yd/100<Y<=Y,o)
T*LABINDuO=IN(A 1+ A2)/(A2uAon)  (X=YTYy)
AYIN=AGHA 1+ A Y)Y =Agn (A1t Ag )Y
(dY/Y}g=0,0025, Ay=1,0, A,=0,0438, ¢=0,42
(dY/Y)g=0,0028, A,=0,007, A,=0,0024
(dY/Y} =0,0044 Y,=18, dY=0,05

application

e range
log(dY/Y)F-2,54 m=-0,%o~ -
- -
T*,=1187 dY,=0,05 dY,/Y,=0,0028 _
u u u' Tu 23‘1_1
XN=0,2 Xw=5

CED91-5A

log (Y/AY) LABJINDu9
- tristimulus value contrast
SN Yoe=L*w -~ nc=100
T*LABINDU=IN(A 17+ A2nY)/(A2nA0n)  (Yd/100<Y<=Y,o)
T*LABINDU=IN(A 17+ A2)/(A2uAon)  (X=YTYy)
YIAY=Y/[A on(A1ntAn)IEX Y/ [Aon(A1ntAzuX)]
(Y/dY)=397,56, Ay=1,0, Ay=0,0438, G=0,42

T* (¥ BYEY530085 A 78Y)O358,=0,0024
oo -{Wd'«;-zze:z-n Zi8 grew s R

log(Y/dY 2,54 i, ~0/13 - i

application
range

CED91-7A
CED91-7N

THT* LABJNDuO relative triangle lightness T*/T*
THT*, Yoc=L*w - nc=100,

T*LaBaNDu9 =IN(A1ntA2nY)(AnAon)  (Yn/100<Y<=Yyo)

T*LagaNDug =IN(A 17+A2X)/(A2pAon)  (X=Y1Y,)

T*N(3,6)=522,T* (18)=1187,T*(90)=1847
T*9o/T*,=1,55, Ay=1,0, Ap,=0,0438, ¢=0,42
T*19T*,=1,00, A =0,007, A;=0,0024
T*3,dT#,=0,43,T4=1186,52 =18

log[T*/T*,]=0, m,;=0,33
1 application
f range
%=1

CED91-2A

log(AY/AY,) LABJINDuUO relative
tristimulus value difference

AYIAY, oozl r gy 100,

T*LABINDU9 =IN(A 1n+A2nY)/(A2nAon)  (Ynd/100<Y<=Yoo)

T*LABINDU9 =IN(A 1ntA2) (A2 Aon)  (X=YTYy)

dY/dY =(A1+A X (A1 +AY)
dYoy/dY,=4,43, Ay=1,0, Ap=0,0438, ¢=0,42
dY,5/dY,=1,00, A=0,007, A,=0,0024
dYs,gdY,=0,31 Y, 18, dY=0,05 -~

CED91-4A
log [(AY/Y) | (AYIY),] LABJINDuUO relative
tistimulus value sensitivity

SISu=@YMIAYN)y v =%\, =100,

nc’
T*LABINDU9 =IN(A 1n+A2nY)/(A2nAon)  (Ynd/100<Y<=Yoo)
T*LABINDU9 =IN(A 1ntA2) (A2 Aon)  (X=YTYy)
(dY/YY(AYIYV)=[(A 1+ A )X (A 17+A20)
(@Y/Y)o(dY/Y=0,88, Ay=1,0, Ay, =0,0438, G=0,42
dY/IY)g/(dY/Y)=s 2. A=0,007, A=0,0024

Taa
log[(dY/YY(dY/Y)]=0, m=-0,13 o
T+,=1187, dY,=0,05 dY,/Y,=0,0028 ?g’,ﬁ’é‘ga"m
%=1
XNn=0,2 Xw=5

CED91-6A
log [(Y/AY) I (YIAY),] LABJINDuUO relative
tistimulus value contrast

GG =(YIBIYIAY), 5 ® YANE 130
T*LABINDU9 =IN(A 1n+A2nY)/(A2nAon)  (Ynd/100<Y<=Yoo)
T*LABINDUO =IN(A 1ntA2)/(A2uAon)  (X=YTYy)
(YRYY(YIAY)=[X/(A1n+Az ) (A 1n+A20)
(YIAY o (YIAY)=1,12, Ay=1.0, Ay =0,0438, ¢=0,42
(Y/dY)g/(Y/dY)=1.00, A=0,007, /4,=0,0024
(Y/dY} (Y/dY)=0,64 Y, =18, dY=0,05
log[(Y/dYY(Y/dY),]=0, m,=0,13
-
T, =1187, dY,=0,08 Y, /07553 1
P 1 application
' range
%=1
XNn=0,2 Xw=5

CED91-8A

TUB-test chart CED9; LABINDU9*(Y) & T*(Y), Yn&=(Y&L*) wrcBne x=0,43, with more data
Absolute and relative lightness, sensitivity and contragt=4A5, A1n=0,007, A=0,0024, A,~=0,04
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